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(a) ρ �ÌEÌP�ù�ÌLÉP�

(b) ρ ÌbD�PCEÌP�¬Î^bLÉP�

(c) ρ ÌbEÌPCLÉP�

)�* (a) � ρ 
�L3 Z îÝ×ÍÞ-n;�Í�LAì�

a ρ b ⇔ a− b ≤ 1

.
E�×Jó a ∈ Z�a− a = 0 ≤ 1 �X| a ρ a Wñ�Æ ρ ÌbD�P�ì«»�1� ρ �Ì

bEÌP��Ê a = 1 C b = 3�.
 1− 3 = −2 ≤ 1�X| a ρ b Wñ�¬Î 3− 1 = 2 > 1�X|

b ρ a �Wñ�Æ ρ �ÌbEÌP�ì«»�1� ρ �ÌbLÉP��Ê a = 5, b = 4 C c = 3�.


 5 − 4 = 1 C 4 − 3 = 1�X| a ρ b C b ρ c Wñ�¬Î 5 − 3 = 2 > 1�X| a ρ c �Wñ�Æ ρ

�ÌbLÉP�

(b) � ρ 
�L3 Z îÝ×ÍÞ-n;�Í�LAì�

a ρ b ⇔ |a− b| ≤ 1

.
E�×Jó a ∈ Z�|a−a| = 0 ≤ 1 �X| a ρ a Wñ�Æ ρ ÌbD�P�E�ÞJó a, b ∈ Z�

u a ρ b Wñ�J |b−a| = |a−b| ≤ 1�X| b ρ a ùWñ�Æ ρ ÌbEÌP�ì«»�1� ρ �Ìb

LÉP��Ê a = k−1, b = k C c = k+1�Í� k ∈ Z 
�×Jó�.
 |a−b| = |(k−1)−k| = 1

v |b− c| = |k− (k +1)| = 1�X| a ρ b � b ρ c íWñ�¬Î.
 |a− c| = |(k−1)− (k +1)| = 2�

X| a ρ c �Wñ�Æ ρ �ÌbLÉP�

(c) � ρ 
�L3 Z îÝ×ÍÞ-n;�Í�LAì� a ρ b ⇔ a = b���Q ρ ÌbEÌPCLÉ

P�

)Û*u×Þ-n; ρ ��EÌPCLÉP�J ρ Ä���D�P�Why?
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